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e Please check that this question-paper contains 15 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question-paper contains 27 questions.
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question paper only and will not write any answer on the answer-book during this period.

it fomm
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(i) T T AT & | 59 J9 97 H Fo7 27 7 & | F97 97 9ie @S] 7 favifara & |

(i) @UB-37 H Fo7-G&IT -5 T eI J97 Th 37% BT & | Je9% Y97 T I 20 3151 G
3111 787 &1 FeT |

(iii) @US-T F FoT-G&IT 6-10 7% F % F97 &1 3H! H71 8 | FeI% 97 7T I 40 31551 G
3111 787 &1 FeT |

(iv) @S-G T Fo7-T&T 11-16 7% 9% J57 TR 3] &7 3 | Ie9% J97 &7 I 100
¥1e5] & 371 787 &1 e |

(v) @IS-§H JHT-TE&T17 @21 7% Jd% J97 qie 371 &7 & | Id% F97 &7 I 150
¥1e5] & 371e% 787 &1 e |

(vi) @US-§ § FeT-GET 21 FIHIET W ITERT 97 8 | 39T I 39+ ITH-GIeiar &
IeTfege |

(vii) @IS § JoT-GE&IT22 G 27 T FIFH Jo7 & 3] H1-E | F9% 97 BT I 150

VsG] @ 31ferh 781 &11 FMET |

General Instructions :

59/1/2

(i)

(ii)

(iii)

(iv)

v)

(vi)

(vii)

All questions are compulsory.. This questions paper has 27 questions in all. There
are five sections in question paper.

Section A contains Questions number 1. —35 of one mark each. The answers to these
questions should not exceed 20 words each.

Section B contains Questions number 6 — 10 of two marks each. The answers to
these questions should not exceed 40 words each.

Section C contains Questions number 11 — 16 of four marks each. The answers to
these questions should not exceed 100 words each.

Section D contains Questions number 17 — 21 of five marks each. The answers to

these questions should not exceed 150 words each.

In Section D Question number 21 is a map-based question. Write its answer in your

answer- book.

Section E contains Questions number 22 — 27 of six marks each. The answers to

these questions should not exceed 150 words each.
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59/1/2

QUg-
SECTION - A
TreneTE! o fRrehetl § BH) el Hifasa Juet § 91T I 9T foRet Tk Alshdizeh

Hed I IANR HIWT |
32
3fid Ig et | STC MU “ufgaf} TeEen’ & @ SR R 7

Highlight any one democratic value which the bureaucratic and authoritarian Soviet
System lacked.

OR
What is meant by ‘Western Alliance’ formed during the Cold War period ?

I H T 3 3NMUR T AT o G ! AR SgU o 981 | 15 Teh U b
<fer |

Justify the reorganization of states in India on language basis by giving one suitable
argument.

SIS TS 2 o fohEfl Teh A1 ol ISR HIfo |

CUE]
R GRETT o JUTT o ®YH STH HIAN o HEw ol IATR IS0
Highlight any one benefit of having an International Organization.

OR
Explain the importance of ‘Arms Control” as.a-measure of traditional security.

frfafiga & @ w1 U 3UH T STHIHT SATHAT & Tl T Terd § 7
(a) 9 SATSHAT H 40 T ATk 3= <31 A U |

(b) SR USg T = e T SATHHT i <h STAM < off |

(c) Uk WX STTSHATT $UTeh ! AT [Eh FaR o TR S & kT T |
(d) 38 Ig T TRt & 3000 A 3Pk Afe AR T |

Which one of the following statements related to the Iraq invasion by the US is
incorrect ?

(a) More than forty other countries were involved in this invasion.

(b) The UN had given consent to invade Iraq.

(c) The invasion was to prevent Iraq from developing weapons of mass destruction.
(d) The US lost over 3000 military personnel in this war.
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5. 1996 | s+t S TId sl AR aAT 1989 T &1 U Al shi TR § Tohell weh TrmaT
1 TgEH Hifey | 1

Identify any one similarity between the United Front Government of 1996 and the

National Front Government of 1989.

wQug-9
SECTION - B

6.  Hifed T9 o forere o feheal G1 RUI 1 Jeei@ hINT | 2x1=2

Mention any two reasons for the disintegration of the Soviet Union.

7. w9 A’ T feu e i w1 W@y B’ § e e 3reiqul Site §hTT | 4x%=2
WA’ @Y ‘B’
(D fowehr STeieH (a)  HEWSg

(D) e =3l e (b)  IHEE
()  eferd derd srdre (c)  aTiggest
IV)  argt ferieft stice (d) ToRM@

Match the following in ‘Column A’ with those in ‘Column B’ in a meaningful way.
Column ‘A’ Column ‘B’
(D) Chipko Movement (a) Maharashtra
(I) Narmada Bachao Aandolan (b)  Uttarakhand
(ITII) Dalit Panthers Movement (c)  Andhra Pradesh

(IV) Anti-Arrack Movement (d) Gujarat
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8. WA 3 U o S TFael GURA o ToTT b1 g 3T s | 2x1=2
3rera

1962 % YRA-<1 Jg 7 IR e urdf =i o g feam 2 2

Suggest any two measures to improve relations between India and Pakistan.
OR

How did the Sino — Indian conflict of 1962 affect the Communist Party of India ?

9.  3.off. THRETH} AR, ST URER & AW 8 9H 4 8, g Sfadtfed 7d 61 fagersor i |

Analyse the thesis propounded by E.V. Ramaswami Naicker popularly known as

N

Periyar.

10. S, 1975 H =1Yd TSR STTATAhIE o THTG hT Fedieh hiaT | 2
CREI
AT TSI I G~ ehl YHehT Shl STTehei ShifvTg |

Evaluate the impact of national emergency declared in June; 1975.
OR

Assess the role played by ‘defections’ on Indian politics.

Qis-H

SECTION -C

11. W i TATY] ifeq 1 forgersor HifT | 4
AU
9T 3R = % offe Ted o fohgi <1 ot w1 fergeryor Shifsre | 2x2=4

Analyse the Nuclear policy of India.
OR

Analyse any two causes of conflict between India and China.

59/1/2 5 P.T.O.
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12. 3R I=iEa o TR <hi Tohegl & sITematy shl =3t hif | 2x2=4
AT
TTeREdT™ | SAlehdd o TR 7 99 9 o foTu STl forgl e sien! i samean hifau |

Explain any two constraints on the American hegemony.

OR
Explain any two factors that have contributed to Pakistan’s failure in building a stable
democracy.
13, 3iffer Svaitentur o THelhi g et T fonegl & dehi o1 saE <hifera | 2x2=4

Explain any two arguments given by the advocates of economic globalization.

14. 1959 H werfiq Taaa 41t 6t faamem <l feegl =i fersivarnati &1 guH Hife | 4x1=4

Describe any four features of the ideology followed by Swatantra Party founded in

1959.

15. T a1 o w3y TS GReT Uig o 0 Lt 3T Sreemft gewn o foru yearfaa fohedl =
HICUS] h 9UH I | 4x1=4

YT
B e TR 1 @R ¥ e = A A Ao iR |

Describe any four criteria that have been proposed in recent years for new permanent
and non-permanent members of the U.N. Security Council.

OR

Describe any four new sources of threats to non-traditional security.

59/1/2 6
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16. el w&’ @ oo safiror 8 ¢ Rrht vt <t wnfod she & gfem mieft 6 siftrent 1 gorie
I | 1+3=4

What is meant by ‘Privy Purse’ ? Evaluate the role played by Indira Gandhi in the

abolition of privy purses.

Qug-a
SECTION - D

17. U T hTgd 1 e N hitg 3R A= fore et < I feaflaw |

(i) 38 HIEA T AT AT i &1 907 < & Heiferd § 2
(i) T o YR T = I Iferd T 3T HIT |
(iii) “< forza 1 IFTel TR &1 TehdT & |7 39 e i &1 deh <ol AT 3asU |

1+2+2=5
Study the cartoon given above carefully and answer the following questions :
(1)  Which part of this cartoon is related to China ?
(i1)  Assess the strength of China on the basis of the cartoon.

(i) “China may be the next superpower in the world.” Justify the statement with

two arguments.
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re : Tfafaa we haa gieeaiem whamffET o e o7 s 17 F WA W e

17.1 31mueh foram & weh 3mrfefes wferd & &9 H < o1 o s 7

17.2 I TSI AT ] HERITed S AT foheal & [EAT=T 1 STTeheid hITT |

17.3 “<i forwar <1 SmTeft Wt &1 weha 2 |7 g <) dh SRt 3 HU hI AR
38T | 1+2+2=5

Note : The following questions are for the Visually Impaired Candidates only in
lieu of Q. No. 17 :

17.1 In your opinion, where does China stand as an economic power ?

17.2 Assess any two conditions which make the United States of America, a super-
power.

17.3 “China may be the next superpower in the world.” Justify the statement with
two arguments.

18. Tr=ferfga st =1 = & ufey 3tk fi for@ et & s faifae
forerm@ & g TH-A Aisel § &, WRA o ThHt B TE SO L. gEl E ATSel
%S Th Fq1 bl o fofan 71 3R 379 <1 ¥ 3= el It &9 § @r] fohan | et wrw
TR refeae i ‘fia steerewn FaIsare |
() T & g Avse & AW faRau |
(i) WA A g1 wigel ® | foreft weh a1 oft i Tefieni =it el foham 7 ok 6 fetg

T | Y Ueh & R ST |
(iti) R o T reiere & UH &1 feroaa, sl ISR I S IR Aisadl |
A 2 | 1+2+2=5
CIE]

fr=faftga sraa 1 & 3 ufew it fi9 fo@ gvi & 3o fofigue :

TRA &1 T UE] o1 T8l & Sl Ueh G1ET o U o G ORI &l | SR g §+al o
HTh! Poohi W TSR IS dl §H U IS o T o T5d-8 IEal (Hehl | SalEw, aeh
Hoohi § Teh U o U 3TN WA § Teh UIdi o Y4 oh §i1d Teh 9T YR Heh & | STehl
Hoehi H Teh U1 ol I 3h1 ShiFd T 1M g7 | S <N HEeH I, FET 3R
i o wfqa § fih w8 ael 1 < o wrEd o SEfd @ TS R |
(i) Tl o UTETd, W o Teiifdeh qeel WX fohd TSHITdeh o1 o1 T 1 T 3R
hd db ¢
(i) WA T T Softd Ty, = o Ush gefld 94 | fohe wepR fiy=1 o 2
(iii) Tk gelta ITEe sht foheal Q1 hitr sl IR T | 1+2+2=5
Read the passage given below carefully and answer the questions that follow :
India did not follow any of the two known paths to development .... Elements from
both these models were taken and mixed together in India. That is why Indian
economy was described as ‘mixed economy’.
(1) Name the two models / paths to development.
(i)  Why was either of the two models not fully accepted by India ? Give at least
one major reason for each.
(i11)) Highlight any two features of India’s mixed economy based on the above said
two models.
OR
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Read the following passage and answer the questions given below :

India is not the only country to have experienced the dominance of one party. If we
look around the world, we find many other examples of one-party dominance. But
there is a crucial difference between these and the Indian experience. In the rest of the
cases the dominance of one party was ensured by compromising democracy. In some
countries like China, Cuba and Syria the constitution permits only a single party to
rule the country.

(i)  Which political party dominated the political scene of India after independence
and how long ?

(i) How did the one-party dominance in India differ from that of China ?
(i11)) Highlight any two drawbacks of a single party rule.

19. Tm=AfaRaa e = e @ ufeu 3t stenfaRaa gei o 3R e

Tl g A1E T ft STE 2 b Wia 7 e - STide | wtie 31 gEn Wi ot
TG A B o HHET H Hord @1 | 3Md Jg & GH WRA A AR 31 & 3R
ARSI TAISAT bl Hfshd ST T Sl HITRTe Bl S iRt 31aT |ifesd 96 o ©H
e I8 9 | 15F 1 ‘Tad 3R TR FEIRN TSl o Toh Tl A el o HIR T84 foeard
STAR S 3 g IEcH B H T TE, W 3R SIehs Sl hid U &l Fehiceh fHeht
T |
(i) 3fid Ig 131 Trse Hifom |
(i) 39 T = @ 3 I o I W <l Hi= =l T Hifw |
(iii) WA <ht e -Tdet fifa 61 fp-al g Teivansii <61 39rR shifu. | 1+2+2=5

14t

freaferfea sreaor 1 ere & ufew iR = for gt & 3@ fofae

IR 3 ATETET 1§ Foh Tl ¢RI o 1Y 37 TeY HEM fohu & wifehd IR o Tey
T & TY T SIS TEL & | A b1 e fifer 1 weh Taaqul qge] YRd 1 §4 & A1
TEY § | WRA-FF Hedl 1 3@ e fagamg 3t o fadi =1 sfag@ 2 | ya-wa
o MY TEY 37 < T AT b1 U | O WA & | IR fa=dt fheri < Arrent &
TIh H ookt JTHATH T a% &4 3R 8 Hifcad H o STehl TSl § TX-3 W
ST 8 | 379 39 & fgedt bt 1fi SIod g Tehd § 3R YR T8l o ST %1 Teh 3 7 |
(i) T am=ETel oo | R I g 7
(i) YRA 3T &4 & i Tel Trae & fo1u ITHER IS g HRe wne HIf |
(iii) T o &6 % F1 A for ok R bt ferer <fifer b1 woh weaqel weel & 7

1+2+2=5
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Read the passage given below carefully and answer the question that follow :
It is important to remember that India chose to involve other members of the non-
aligned group in this mission of reducing tension. During the Cold War, India
repeatedly tried to activate those regional and international organizations, which were
not a part of alliances led by the US and the USSR. Nehru reposed great faith in ‘a
genuine commonwealth of free and co-operating nations’ that would play a positive
role in softening, if not ending, the Cold War’.
(1)  Explain the meaning of Cold War.
(i1)) Explain India’s response to then ongoing Cold War.
(i11)) Highlight any two features of India’s policy of Non-alignment.
OR
Read the following passage and answer the following questions :
India has maintained good relations with all the post-communist countries. But the
strongest relations are still those between Russia and India. India’s relations with
Russia are an important aspect of India’s foreign policy. Indo-Russian relations are
embedded in a history of trust and common interests and are matched by popular
perceptions. Indian heroes from Raj Kapoor to Amitabh Bachchan are household
names in Russia and many post-Soviet countries. One can hear Hindi film songs all
over the region, and India is part of the popular memory.
(i)  What is meant by the post-communist countries ?
(1) Explain any two factors responsible for-strong telations between India and
Russia.
(iii) How are India’s relations with Russia an important aspect of India’s foreign
policy ?

20. FreAfeRaa steawon i e & afeu 3R sTaiferiad Sei & S i ;

HTear <l geeq o quft Hehr A & f gen wafies e safdaan 6 wran 7 |
TELETS, 39 91d W HAYE & Toh Slh—dleh UH id & @ek & (o oI ol =™ ST
TFET | T ST GREAT 1 Tehivl 3719 T aTel JhI T SR ST bl fedeh @adl It
TI-TUS 8 S WEATE |
(i) T <hl T <hl YT Tefel i & T ohl GLarm g ?

(i) HTET <l LT o ATk 37 H, 3719 91 MU AT ATadl 7 TS HIAT |
(i) R IR G 6t Tg=H e S8 T sl a=m=T =R | 1+2+2=5
Read the passage given below carefully and answer the questions that follow :

All proponents of human security agree that its primary goal is the protection

of individuals. However, there are differences about precisely what threats

individuals should be protected from. Proponents of the ‘narrow’ concept of human

security focus on violent threats to individuals.

(1)  Which type of security is the main concern of ‘human security’ ?

(i) What would you like to include under the ‘broad’ concept of human security ?
Explain.

(ii1) Identify any four threats from which individuals should be protected.
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21.

Ra < feu Mo aoHifaes ar-mHfes 8 9fe Tt s (A), B), (©), (D) @@ (B) g1

ST T R | S TS SRl % YR WS Sl hl Uga I 37K 319 3R-

qfEceht | oh Wal T, YT i 78 SAAeHI ohi shH T 941 I | fem mn graf-aa

AR, = < 718 dTfereht o B9 H fRaT |

ST Sl TS AHHRY <hY shH AT qrEfRrd 31 T 1 91
(i)
(ii)
(iif)
(iv)
v)

(i) 9% TSI T&T 2002 % M T TIH T f&oes geat afed g3 of |

(i) 98 U= 518 vgel HgTe el ST o |

(i) o8 T fSeeh! faum g & wra o waifs @i € |

(iv) o8 T3 fod Aerem 1 aEy 2 |

(v) 98 UST g faer 1975 H, WA o 22 o UST < €9 H g3l | 5x1=5
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In the political outline map of India given above, five states have been marked as

@, , @, @ and @ Identify these states on the basis of information given below

and write their correct names in your answer book along with the respective serial

number of the information used and the concerned alphabet in the map as per the

following format.

Sr. No. of the

information used

Concerned alphabet in the
Map

Name of the State

(1)
(i)
(iif)
(iv)
(v)

(1)  The state where a violent incident took place at Godhara in 2002.

(i1)) The state which was earlier known as Madras.

(ii1)) The state which has the-maximum number of seats in India in its Legislative

Assembly.

(iv) The state to which Laldenga belonged.

v)  The state which integrated with India in 1975 as 22™ State of India.
v) g

e : FAfaiad o had gieeaTiea et & fore T g 21 % = W E

21.1 38 T w1 T forfau S&t 2002 ey F1e T W o et afeq g3 of |

21.2 Tor" TS 1 U8 USTH Hal STTdT AT 7

21.3 F AU 1975 H 229 TST o €9 H qHA T S[ST AT ?

21.4 AT fohg T § graiferg o7 7

21.5 38 U=Y o1 9 fefgu st <ht faem avn § Wi | waifes €ie 8 |

59/1/2
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Note : The following questions are for the Visually Impaired Candidates only in lieu of
Q. No. 21.

21.1 Name the state where a violent incident took place in 2002 at Godhara.
21.2 Which state was earlier known as Madras ?

21.3 Which state integrated with India in 1975 as the 22" state ?

21.4 To which state did Laldenga belong ?

21.5 Name the state which has maximum number of seats in India in its Legislative

Assembly.
Tug-q
SECTION - E
22, qdedi arfead Te 6 fehedl ©: faowansti o1 aui Hife | 6x1=6
37T
R < THETEA Hehd ol | H SUH hiferT | 6

Describe any six features of the erstwhile Soviet System.
OR
Describe briefly the Cuban Missile Crisis.

23. rerew o fafor % fore Ietert aftfeurfaa St =men hifs | sgeefi yomet w snaTia

e Teteh Tehda hl TATIAT § SICTCY S TWhel gt ? 3+3=6
FAYaT
T TSR o I o gl ©: HRUN i T HIFT | 6x1=6

Explain the circumstances that led to the creation of Bangladesh. How did
Bangladesh succeed in establishing representative democracy based on multiparty
system ?

OR

Explain any six reasons for the rise of the Chinese economy.

59/1/2 13 P.T.O.
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24. 1989 § WA H S Tl TS shl TR o gl oI oITHI o1 HATheH BT | 3x2=6
CIUEI
T AT FHYHR H A S T8 o Teheal 1 T ST 1 foreersol SHIfT |
Assess any three benefits of the coalition governments in India since 1989.

OR

Analyse any three main causes of unrest in Jammu and Kashmir.

25. 1969 § HIE Ul i faurem i 3R of I areft fohedl fi maweyel genan &1 avi
ST | 3x2=6

AT
1975 H 3TaTdehtet Tfyd fopu S o5 fore Saterl feregl di greaaii-sh1 auia Shifsu |

Describe any three important events that led to the split in the Congress Party in 1969.
OR

Describe any three events that led.to the imposition of emergency in 1975.

26. 1947 T g AR o TIHTSH o feheal ©: GROTHT shi ST SHITT | 6x1=6
3o
LT & YT, MHA o gl i IH A H HEE el b T b gl o geT
RO I IAFR HIT | 3x2=6

Explain any six consequences of the partition of India in 1947.
OR

Highlight any three major reasons for the dominance of Congress Party in the first

three general elections after independence.

59/1/2 14
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27. TFTEXOl o UH WA 9T WA oh J&7 T forgersur Shifre foeht == STatisgi ¥t o gl Feh!
gl

YAl
ITTRTT oh HIEH (e THTET T eATohH hITT |
Analyse India’s stand on environmental issues discussed at the international level.

OR

Evaluate the cultural consequences of globalization.

59/1/2 15
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